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Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 13 and of Part-II are 40.

o FYT T F T [ G % 3 J97-09 § FRT g 8 79 797 13 &1
Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 13 questions.
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T97-93 4 qle7 & @ T 79 T IS TR Tl Qe F A FI-JIaw F JEI-gT 97 @)
The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.
FY J7 S T 7@ & X & G, J97 H HHEH FaT [
Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @Il g1/ 91 T 8
Don’t leave blank page/pages in your answer-book.

GG % SfaRTT wlE o e TE Al s elvaRdgar & fd siv fiar gav 7
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

TETE STYTT T To FIT-YH GT ST ford

Candidates must write their Roll Number on the question paper.

Gy 497 F AT 37 @ Y@ 98 Gea FT o [ T g 7 T8l 8, qOer % IYUT 59
& § Fig A arar @fwre 78 AT Tam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G 59T -

General Instruction :

() @4 geT Sfard &

All questions are compulsory.
(i) 3T Fo7-97 F 7 fiT @°T & 7 5 g7 g qe W E -

This question paper consists of three Sections which are divided as :
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G TG HL G5 TF FTS FoT & T9F Jo7 2 3% F &1

Section A : This Section consists of 5 questions from 1 to 5, each of

2 marks.
G §: 398 H6 §10 7% F7 5 J97 8, % J97 3 3% & &l

Section B : This Section consists of 5 questions from 6 to 10, each of

3 marks.
&€ 7 : 57 @7 4 11 & 13 % %7 3 J97 &, J9% Jo7 5 e & &/

Section C : This Section consists of 3 questions from 11 to 13, each of

5 marks.
(i) T & B FH FoT 7 STINE [AFT [T T &1 577 G AT G 797 & FA &1

There are internal choices are given in all questions of Section C. But you

have to opt only one of them.

gug — o [M. M. : 10

SECTION - A

1. & 39 & 3 @@ X 5 &l 76 B 36 99 7 4 uh TS grgesdr Marl S 81 56
et @ & 6 AT () A A, (i) T e e ? 2

A bag contains 3 red balls and 5 black balls. A ball is drawn at random from

the bag. What is the probability that the ball drawn is (i) red (ii) not red ?

2. ¥ @ dEAl T A, BE 9 27 @ X BT 182 @ 2

Find two positive numbers whose sum is 27 and product is 182.
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3. g A & FRxi® o9 FIVT f AB TF g0 H 9 8, PeH &= (2, -3) & 71 B &
Fresis® (1, 4) B 2

Find the co-ordinates of a point A where AB is the diameter of a circle whose
centre is (2, =3) and co-ordinates of B is (1, 4).

4. T 3G HIOT ¢ 2

5cos? 60° + 4sec? 30° —tan? 45°
sin? 30° + cos? 30°

Evaluate :

5cos? 60° +4sec? 30° —tan? 45°
sin? 30° + cos? 30°

5. SN % Y UMl B UF q@E 8 SN G B SR @ 2, Rrael gend 48 #, 36
wd 28 HI §1 IHH A FG Bl 2

An underground water tank is in the form of a cuboid of edges 48 m, 36 m and
28 m. Find the volume of the tank.

gus — § [M.M:15
SECTION-B

6. [ @Ol @ i S HieT 3
T-STA 1-4 4-7 7-10 10-13 13-16 16 - 19
ELSSIRGIN 6 30 40 16 4 4
Find the median of the following data :
Class-interval 1-4 4 -7 7-10 10-13 13-16 16 - 19
Frequency 6 30 40 16 4 4
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7. Hﬁﬁ?{ﬁfﬁﬂ%aﬂaﬂ?aﬁﬁzﬁgﬁmmﬁﬁa@%aaﬁr%wﬁaﬁmﬁ?

aaﬁﬁsaﬁgmmaa@gaw%w@mmaﬁm 3

A fraction becomes %, if 2 is added to both the numerator and the

denominator. If 3 is added to both the numerator and the denominator, it

becomes % Find the fraction.

8. I A.P. & 319 U8 S HINC SHH 11471 U8 38 ® X 16d1 G& 73 Bl 3

Find the 31st term of an A. P. whose 11th term is 38 and 16th term is 73.

9. wh il Rl G W 39 TR b gE & 6 gue Fremm {0 deR | 2.5 dew &gl
TR T g6 S R g & 6 HieX B FAE W N 0 Raga 7% ugaar 31 @ A
Si=EEINEEA E 3

A ladder is placed against a wall such that its foot is at a distance of 2.5m
from the wall and its top reaches a window 6m above the ground. Find the

length of the ladder.

10. o7 f REr & REmr @ R, swEifed &9 @ &9%d S HIS @l & ABCD @ Ud®

o 14 9 B R . 3
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Find the area of the shaded region as shown in figure where ABCD is a square

of side 14 cm.

gug — g [M. M. : 15

SECTION-C

11. TF 9900 oA W @el 4MR & oEr o9 Refd d 40 Hiex sifte @l & ol & Safh
T B AT 60° § eHT 30° B S 81 AR Bl SR 7T HiC) 5

The shadow of a tower standing on a level ground is found to be 40 m longer

when the Sun's altitude is 30° than when it is 60°. Find the height of the

tower.

7T
OR
I % @ g 4, o R & T | 30 i @ gl W &, MR & R & e
FT 30° Bl HHR B FHAE G BT

The angle of elevation of the top of a tower from a point on the ground, which

is 30 m away from the foot of the tower, is 30°. Find the height of the tower.
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12. 71 Gl & g & s THETT & I § el & ST 5

i+ L =2 a9 L—izl
x-1 y-2 x-1 y-2

Solve the following pair of equations by reducing them to a pair of linear

equations :

x-1 y-2 x-1 y—2:
AYAT

OR

o Ay g oy A A g AN el &) A gverg g0 B g A B oy
% & A A S T SR G # e g e 8 7

Five years ago, Nuri was thrice as old as Sonu. Ten years later, Nuri will be

twice as old as Sonu. How old are Nuri and Sonu ?

13. 5 & B & 0 g9 W U & W3 G st WER 60° & HT W e & aun
T % U& fi 5

Draw a pair of tangents to a circle of radius 5 cm which are inclined to each

other at an angle of 60° and write steps of construction.
YqT

OR
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% O 90 gq0 W 96l g 7 & & wi-x@n 7P d1 70 @ | ¥ e @il 6
|PTQ =2 |OPQ &

Two tangents TP and TQ are drawn to a circle with centre O from an external

point T. Prove that | PTQ =2 |OPQ.
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